AT

i :
N PERENM L S 5
@, Scan the code to watch videos 2154 )iz [E]5 7L scanthe code to watch videos

161\ @D

A | @D /162

B ZY-50001 [EEINL DEAD CENTER CARBIDE HALF-NOTCHED CENTER

| ——a T

S3IY¥3S ISIA NOISIDIAd
143 B O & & 8%
=
—

HARELS

(Taper shank model)

BE
(Accuracy)

HIRELS

(Taper shank model)

#4& Model D (mm) L (mm) #4& Model D (mm) L (mm) (AE{%@)

DG1 MT1 12.065 80 DHE1 MT1 1.5 5.5 12.065 80
DG2 MT2 17.78 100 DHE2 MT2 2 6 17.78 100
= DG3 MT3 23.825 125 DHE3 MT3 3 9 23.825 125
8% DG4 MT4 31.267 160 0.0Tmm DHE4 MT4 5 12.5 31.267 160 0.0T mm
2 4 DG5 MT5 44.399 200 DHE5 MT5 7 16 44.399 200
Z
2 m DG6 MT6 63.348 270 DHE6 MT6 10 22 63.348 270
z%ﬂ DG7 MT7 83.061 360 DHE7 MT7 12 24 83.061 360
& =
a
LE = Features: LE = Features:
OXAMOEREMR, KA EBEFrREEaWEM ©Made of imported high-strength material, the product has high wear ORIHMEE L EHRF KA ERE®D ©The front end is added with alloy head to maintain permanent service life
ORERIEEEME, TN EREHEFL S, HLMIETH resistance after special treatment ORFEFLHEZITHEANFMIIEAN ©Used for centering and bearing the workpiece gravity and cutting force
ORFETOHES THEHFTIE A ©O0ptional parts of lathe, installed in the spindle taper hole or tailstock OMALBROFEINEML ©The top notch facilitates tool processing
B >H. taper hole, with its head supporting the workpiece
E \ ©Used for centering and bearing the workpiece gravity and cutting force
m
2
B

B ZY-50002 ¥FRINA  HALF-NOTCHED CENTER B ZY-50004 t& iS55  CARBIDE CENTER

------ e

SE[ERRENINED]

=
Hl

7
M
]

#i& Model e D (mm) h (mm) ) Rt 045 Model e rEE el Dimm) L (mm) d (mm) a1 (mm) B
DH1 MT1 12.065 76 80 DE2 MT2 17.78 100 18 8
DH2 MT2 17.78 11 100 DE3 MT3 23.825 125 241 12
DH3 MT3 23.825 15.05 125 DE4 MT4 31.267 160 31.6 15
% o DH4 MT4 31.267 20.8 160 0.01mm DE5 MT5 44.399 200 44.7 18 S8 oo
o DH5 MT5 44.399 29.35 200 DE6 MT6 63.348 270 63.8 24
2 DH6 MT6 63.348 41.9 270 DE7 MT7 83.061 360 83.555 24
i DH7 MT7 83.061 53.78 360
B Features: R Features:
OMKRAKENEMT ©Top notch facilitates tool processing OFIHMEE L EERFXKAERESD ©The front end is added with alloy head to maintain permanent service life

ORBMMIPavERM, RETEMEFLE/REMEL D, LETETIH
ORTFEPLHARTHENMTIAA

O©ltis a part in machining, installed in the spindle taper hole or tailstock
taper hole, and its head supports the workpiece
©Used for centering and bearing the workpiece gravity and cutting force



® Eﬁ%xﬂ%‘*ﬂﬁﬁ b RS E SR N
163\ SEevo Scan the code to watch videos .-&- [El% 5% Scanthe code to watch videos ZEGYO - / 164
B ZY-50005 M11BE22 O] TR M11 SERIES PRECISION LIVE CENTER B ZY-50007 fEO)3ETH4  PRECISION MEDIUM-DUTY LIVE CENTER
MT \\\ SN\
L N R
gﬁﬁ [am} S E il I ‘:% — O M
=5
nEY LT
23 L
P&

##& Model SERES L (mm)  L1(mm) D(mm) DI(mm) d(mm) SAHM(kg) REEEpm) HE(MM) #4& Model SEWRES | (mm)  L1(mm) D(mm) DI(mm) d(mm) EEH(N)REEEPm) HE(MmM)

M11/101 D411 MT1 115 20 34 12.065 18 900 5000 0.01

M11/102 D412 MT2 145 26 45 17.78 25 1500 5000 0.01

= M11/106 D413 MT3 170 30 52 23.825 28 2000 4200 0.01

g% M11/108 D414 MT4 205.7 34.7 60 31.267 32 3200 3200 0.01

g r_ﬁ M11/110 D415 MT5 254 45 77 44.399 45 6300 2400 0.015

ﬁ )[]]]] M11/114 D416 MT6 362 68.5 125 63.348 75 10000 1600 0.015

z%ﬂ D411L MT1 125 30 34 12.065 18 900 5000 0.01

m 2 D412L MT2 155 36 45 17780 25 1500 5000 0.01

D413L MT3 183 43 52 23.825 28 2000 4200 0.01

D414L MT4 222 51 60 31.267 32 3200 3200 0.01

D415L MT5 272 63 77 44.399 45 6300 2400 0.015

D416L MT6 382 88.5 125 63.348 75 10000 1600 0.015
o M
m
P
B

ZY-50006 2 JiE4N y
= BEREERR PR A TAHBHTDUTYLIVE CENTER B ZY-50008 l@REE PRI MAETNL  CARBIDE MEDIUM-DUTY LIVE CENTER

MT
,—Q—] d
3= =
= . . (G _LL|2 -
2 @%ﬁl&z T C
|
R
L1
L

ZEEE (ko) ARBRESE(pm) A (mm)

1% Model #WRES | (mm)  L1(mm) D(mm) DI (mm)

(Taper shank model)

d (mm)

#14& Model HHES L (mm) L1(mm) D(mm) DI(mm) d(mm) di(mm) SAHRE HRREE KHBE(Mm)

(Taper shank model) (rpm) (Accuracy)

DM311 D412A
RE DM312 D413A
& DM313 D414A
2 Sos
B3 DM314 D415A

DM315
DM316
DM317

D416A




JiF ':!1,
°| see RBEMENM £ Aprnet RN E N T e
165\ ZE%, Scanthecodetowatchvidecf; a EE-E:E- Scanthecodetojvatchvideos ZE%, / 166
B ZY-50009 P EEZETNS (A04<E!Y)  CARBIDE MEDIUM-DUTY LIVE CENTER(EXTEND) B ZY-5001T152fZTM5  BULL NOSE LIVE CENTER

MT

Y

7
m— 1]~
-
= T AN
e 1
oK
= g, L1
EARELS HAFELS
A& Model (Taper shankjn?odel) L (mm) A& Model (Tapershankjr?odel) L (mm) L1 (mm) D (mm)
D412B D52X60(60°)
D413B D52X61.9(70°)
g D414B DS3X76.2(70°)
8% D415B DS3X100(60°)
2 K D416B DS3X100(75°)
5
% \m DS4X160(60°)
o DS4X160(75°)
£ &
7= DS5X200(75°)
DS5X250(75°)
DS6X200(75°)
DS6X250(75°)
=\
A 1) d=E 37 RN
" e | ZY-50012 604HEEZ ] 604H PRECISION LIVE CENTER
2N M ZY-50010 \EZERIEIAETHR  PRECISION HEAVE-DUTY LIVE CENTER a SR ATEGUES
0
MT )
y 3 RS k&
| ——) |
A = R P I >~
| [ ©L e =
oS
=
G
z M L1
0" g |_

E(mm)

(Accuracy)

s Model  EBES | (mm)  L1(mm) D(mm) DI(mm) d(mm) BAHR(Ko) WESEpPT) B
604H/101

REHE(N) HRIREmpm) FHE(mm)

(Accuracy)

##& Model JERES L1(mm) D(mm) DI(mm) d(mm)
DM511

604H/102
> [=H
A SIS 604H/104
N DM513 604H/106
BF DM514 604H/108

DM515
DM516

604H/110
604H/114
604H/116
604H/116E




T o

3 2 ARMENS Y mmENA s o .
1 67\ ZE@, Scan the code to watch videcfs [=]% [E]54 722 Scan the code to jvatch videos ZE%, / 168
B ZY-60001 PBZEAYIFEITER  PRECISION PARALLEL BLOCK B ZY-60002 HEFEIREL  CLAVMPING SET

TREBRS (AF) BeRY (AF)

T-slot Size(mm) Stud Size(mm)
9% M8x1.25
11.7 M10x1.5
13.7 M10x1.5
13.7 M12x1.75
15.7 M12x1.75
15.7 M14x2
17.7 M14x2
17.7 M16x2

S8R ABERRE: 19.7 M16x2

S3IY¥3S ISIA NOISIDIAd
143 B O & & 8%

O6% TEIEIZE TR (X)) SRS (EH)
06125 T-slot Size(US) Stud Size(US)
. . O4X EHIZE 3/8 5/16-18
%% PB150: PB154: O R IRER 7/16 3/8-16
S txt £12 Model R (LXWXH A2 Model & (LXWxH 8 O e -
Er_,]{. =i L*n ( ) =T L*n ( ) (Pcs) ©24$E5(Xﬁﬁ"a§§$$, ‘LQE?‘]?' R 4" . 5" N 6" g 7" R g" %4*& ;;?6 i
& 150x10xH ) ) ) 2
@@ LR (| 11416,18,20,22,24,26,28,30,32,35,40,45,50) | ISR Each set of 58 machine tool fixtures includes: 9/16 1/2-13
0 7 PB154-1 (H:16,18,20,22,24,26,28,30,32,34,36,38,40, | 18x2
o) 150x8xH 5/8 1/2-13
z PB150-2 14x2 42,44,46,48,50) ©6 T-slot nuts e
(H:14,16,18,20,22,24,26,28,30,32,35,40,45,50) ©6 flange nuts MBS
80x4xH ©4 connecting nut 11/16 5/8-11
- 14x2
a1 (H:14,16,18,20,22,24,26,28,30,32,35,40,45,50) p Ity ©6 step gERUISRIRICS 3/4 Sl
200x10xH PB154-2 (H:1719,21,23,25,27,29,31,33,35,37,39,41, 18x2 ©12 step washers ‘ S 13/16 5811
PB150-4 14%2 43,45,47,49,51) ©24 double-ended bolts, 4 each in length of 3", 4”,5",6",7",8
(H:14,16,18,20,22,24,26,28,30,32,35,40,45,50)
oM
2w, PB151: PB155:
B
m
i 72 Model G (LXWxH) 72 Model AR (LXWxH) ﬁf}
0\
= 100x4xH 120x10xH N
PB151-1 ox2 PB155-1 12x2 B ZY-60003 JHEXTT  HYDRAULIC SOFT CLAWS .
(H:10,14,18,22,26,30,34,38,42) (H:14,16,18,20,22,24,26,28,30,32,35,40) L6, L7 L8
160x4xH 150x10xH L2
PB151-2 9x2 PB155-2 12x2
(H:10,14,18,22,26,30,34,38,42) (H:14,16,18,20,22,24,26,28,30,32,35,40)
PB151-3 L=l 9x2 L3
. (H:14,16,20,24,30,32,36,40,44) X PB156:
— 3 (Ip]
EP (H:14,16,20,24,30,32,36,40,44)
= PB156-1 120x8xH(12,17,22,25,28,32,36,38)
Z Zﬁj PB153: PB156-2 160x8xH(12,17,22,25,28,32,36,38) 8x2 "
= . PB156-3 200x8xH(17,22,26,28,32,36,38,42) 8x2
B S Model HHE (LxWxH) __j
125x8xH(H:11,16,21,26,31,36) PB161:

P 125x10xH(H:13,18,23,28,33,38) A 2 Model 5 (LWH)

125x12xH(H:15,20,25,30,35,40)
125x14xH(H:17,22,27,32,37,42)

100x5%16,100x6x18,100x8x24,

L8 (mm) M FEEIRTI IR

(Sprration Pitch)

##& Model LT (mm) L2 (mm) L3 (mm)

L7 (mm)

L4 (mm) L5 (mm) L6 (mm)

- 150x8xH(H:11,16,21,26,31,36) 100x10x30,130X].2%36, JERGE =
2 G 150x10xH(H:13,18,23,28,33,38) IO PEAn] DU TERC0e 1SRO6 S
A PB153-2 24x2 150x22x62,200%31x15
i 150x12xH(H:15,20,25,30,35,40) =FE
;% = J 5
nF 150x14xH(H:17,22,27,32,37,42) JSR10 ;
1.5%60°
JSR12 5 39 30 61 M14
JSR12-1 5 39 30 61 M16
BR: Features: JSR15 8 37 43 85 M20
JSR15-1 5 37 43 85 M20
ormiieE, AEemEY, ERAE ©The product has stable performance, high wear resistance, and is easy to
OMEE: HRC55-62 use
OfE: 0.0lmm ©Hardness: HRC55-62
OF47E: 0.005mm ©Accuracy: 0.01mm

©Parallelism: 0.005mm



[T

ey
HE Lo

LM E R ;.‘1;&

® T .'1._ L2 B A IR N S
1 69\ ZE@, Scan the code to watch videos 2154 meld il Scanthe code to jvatch videos ZE@, / 170
B ZY-60004 YB3 i3  ELECTRONIC EDGE FINDER B ZY-60007 DIN317 3FEI#LEK  MORSE SHANK PULLER

20
210
‘

- 3 109.5

g 158

%

%-}.Sl ‘ #M4& Model L (mm) H (mm)

<

m g2 DIN317/0 MTO

wv

Z 9N s Feat . , DIN317/1-2 MT1 MT2 140 20

P o eatures: ﬂ DIN317/3 MT3 190 25
OERMEEESMFHIE, BXEBEZEH ©Made of high-quality alloy steel and precision ground after quenching DIN317/4 MT4 225 30
ORI A X R Ollluminate display upon contact L DIN317/5-6 MT5 MT6 265 35
OKIEEH. IE, FRHAE ©Accurate and fast alignment, easy to use

O[ME0.0Tmm © Coaxiality 0.01mm

S31¥3S WILSAS TOOLDOND
68 TSR

B ZY-60005 ##SF 8§ MACHINEAL EDGE FINDER
B ZY-60008 DIN318 ¥ HEh#EEE  SEMI-AUTOMATIC MORSE SHANK PULLER

CE-420 - CE-1020 <
o~
s B
S P —
” = | P Ze H
s »j % “ WJ 8|2 ¥ : 7
m M 91 93.5
B3 “ ##& Model S (Overall Length)
= DIN318/1-3 MT1 MT2 MT3 317
DIN318/4-6 MT4 MT5 MT6 380
BR: Features:
OERMEEESMFHIE, BXEBEEEH ©Made of high-quality alloy steel and precision ground after quenching B <y
OFTEIE. FEKIEEN ©Used for alignment and positioning of curved surfaces and planes . ZY-60009 5 C;E' 5C FIXTURE
OKIEEH, ME, FRHAE ©Accurate and fast alignment, easy to use
- OE#E0.005mm © Coaxiality 0.005mm
o=
b |
el
P

B Z2Y-60006 &5 cLeAneR

=t
L
#i& Model 3911-125-5C
] E¥L (Round) 1-28mm 3/64" -11/8"
@ F#55BE (Clamping rang) WA (Square) 3-19mm 1/8" -3/4"
§ = AT (Hex) 3-22mm 1/8" -7/8"
< D (mm) 126
A2 Model HLERIE 3 DO (mm) 95
= (Spindle) Py L (mm) 107
30 25 Model (Spindle)
40 HSK63
2 ey HEIIL0 e Features:
O55CELERE, uRHFEARBEENIASNTH © Combined with 5C chuck, it can clamp tools or workpieces of different
ORER, BIEAE, XHEE diameters
OTURESER, BERREEETHIRE L ©High precision, easy operation, firm clamping

©Can be installed on lathes, grinders and other special equipment



S3A¥3S 1371700 S3I¥3S WILSAS TOOLDND S3IY¥3S ISIA NOISIDIAd
68 TSHE 143 B O A %% 8%

4 ¥ % %

SAIS HILNTD

4 3% % ul

i

>
(@)
()
=
(%)
V)
o
)
=
wn

H

171\ @D

o0 ®

A

ZEGYO

R

Thdiss;

ABME A %ﬁ

Scan the code to watch videos

BT/DIN LOCKING DEVICE

B ZY-60010 §iJ] &

R

H(mm) X

#t& Model L(mm)  W(mm) Weight(ka)

BT30 205 98.5 128 3.7
BT40 205 98.5 128 3.8
BT50 275 150 198 11.4
DIN69871 30 205 98.5 128 3.7
DIN69871 40 205 98.5 128 3.8
DIN69871 50 275 150 198 1.4
CAT40 205 98.5 128 3.8
CAT50 275 150 198 11.4

Features:

O© BT AK7] BHLRMI 4
O#fEfE R, DM EARMRSTER
OXLHBREARETIER

HSK LOCKING DEVICE

B ZY-60011 HSKi7] FE

#& Model
HSK-32

© Used for locking and disassembling machine tool accessories
©Easy to operate, can be used in both vertical and horizontal positions
© Can be used without adjusting the angle

HSK-40

HSK-50

HSK-63

HSK-100

HG BT30

HG BT40

o |

B ME MM

£ors
-:.“‘_-a:ﬂ' : Scan the code to watch videos

o0 ®

A

ZEGYO

@& /172

B ZY-60012 K11 ZH=TEELR&E

& Model D1(mm) D2(mm)
80 55 66

K11 THREE-JAW SELF-CENTERING CHUCK

100 72 84

125 95 108

130 100 115

160 130 142

160A 130 142

pA 0] 165 180

200C 165 180

200A 165 180

240 195 {5,

pre 195 215

250 206 226

250C 206 226

250A 206 226

315 260 226

315A 260 285

320 270 285

Eplile 270 290

325 272 290

325C 272 296

325A 272 296

380 325 296

380C 325 350

380A 325 350

400D 340 350

500D 440 368

500A 440 465

H
H1
7
h
als o 8 ’
o
@ I
=——
ot | H2 ]

D3 (mm) H(mm) H1(mm) H2(mm) h(mm) z-d(mm) SAHEAEE RRGE
16 66 50 - 3.5 3-M6 40 4000
22 74.5 55 - 3.5 3-M8 60 3500
30 84 58 - 4 3-M8 100 3000
30 86 60 - 315 3-M8 100 3000
40 95 65 - 5 3-M8 160 2500
40 109 65 71 5 3-M8 160 2500
65 109 75 - 5 3-M10 250 2000
65 122 75 78 5 3-M10 250 2000
65 122 75 80 5 3-M10 250 2000
70 120 80 - 8 3-M12 320 1600
70 130 80 84 8 3-M12 320 1600
80 120 80 - 5 3-M12 320 1600
80 130 80 84 5 3-M12 320 1600
80 136 80 86 5 3-M12 320 1600
100 147 90 - 6 3-M12 400 1200
100 153 90 95 6 3-M16 400 1200
100 152.5 95 - 11 3-M16 400 1200
100 153.5 95 101.5 1 3-M16 400 1200
100 153.5 96 - 12 3-M16 400 1200
100 154.5 96 102.5 12 3-M16 400 1200
100 169.5 96 105.5 12 3-M16 400 1200
135 155.7 98 - 6 3-M16 500 1000
135 156.5 98 104.5 6 3-M16 500 1000
135 1715 98 1075 6 3-M16 500 1000
130 172 100 108 6 3-M16 500 1000
210 202 115 126 6 3-M16 630 800
210 202 115 126 6 3-M16 630 800

EEEERE:

Short cylinder connection form:

OKMERZEFEAEM (IETMRMNE—E)

OK11A, K11CHIK11D, KTMERKEZ2ETMANBMNER, thAEA

1E /50 S T

OK1TAFIKITD, KTMER-RE-RMFAIS03442tRE

OK1TCEREZRTAERRLERH BN
O TR BB RRM
OZAPHER, TRHEMFRITRELALRE

©K11 chuck with integral claws (one set of positive claws and one set of
negative claws)

©The K11A, K11C, K11D, and K11E chuck jaws are in the form of separate
jaws that can be adjusted for use as positive or negative jaws

©K11A, K11D, and K11E chuck jaws comply with 1IS03442 standard

©The K11C chuck claw is a traditional separation claw structure

© Can provide various forms of soft claws

©According to user needs, we can provide a front screw installation
method for the chuck



I‘It
]
| ee® LN E £ - ee® ®
173\ AR coomthecn EORE UL gt s A | @D /174

RIGHT ANGLE SHOULDER SHELL MILLING CUTTER

B ZY-60013 K1I2MBEICFE K12 FOURJAW SELF-CENTERING CHUCK

H
H1 d
W
: h
3 | H
Al
oK
| =
rgn]‘ahi" ~ | =|m  —
ik o o |Oa ~—1
5N A i
n&
D
Z-d—/
{5
-z
(@]
< % ##% Model SR TR ) wF
= |_’{ #1& Model D1(mm) D2(mm) D3(mm) H(mm) H1(mm) h(mm) Z-d(mm) D (mm) d (mm) H ( mm) W ( mm) T (mm) a (mm) (Insert) (Screw) (wrench)
) yil BAP300R-40-16-4T 40 16 40 8.4 6.3 9 APMTI135PDER | M2.5%6 T8
% .I).N 80 55 66 16 66 50 3.5 4-Mé BAP300R-50-22-4T 50 22 50 10.4 6.3 9 APMTI135PDER | M2.5%6 T8
g\g 100 72 84 22 73 53.5 3.5 3-M8 BAP300R-63-22-5T 63 22 50 10.4 6.3 9 APMTI135PDER M2.5%6 T8
w
125 = p— o P = » g BAP400R-50-22-4T 50 22 50 10.4 6.3 14 APMT1604PDER | M4.0%9 T15
BAP400R-50-25.4-4T 50 25.4 50 10 6 14 APMT1604PDER | M4.0*9 T15
139 : i = = & T it =i BAP40OR-63-22-4T 63 2 50 104 6.3 14| APMT1604PDER | M4.0%0 5
160 130 142 40 95 65 5 3-m8 BAP400R-63-22-5T 63 22 50 10.4 6.3 14 APMT1604PDER | M4.0%9 115
160A 130 142 40 109 65 5 3-M8 BAP400R-63-25.4-4T 63 25.4 50 10 6 14 APMT1604PDER | M4.0*9 T15
3 s 165 130 145 20 %.5 s 05 M8 BAP400R-80-25.4-4T 80 25.4 50 10 6 14 APMT1604PDER | M4.0%9 T15
B BAP400R-80-27-5TR % 80 27 50 12.4 7 14 APMT1604PDER | M4.0*9 T15
u 190 155 172 55 105 75 5 3-M10
3 BAP400R-80-27-5T 80 27 50 12.4 7 14 APMT1604PDER | M4.0*9 T15
B = 200 185 160 63 L B 2 == BAP400R-80-27-6T 80 27 50 12.4 7 14 APMT1604PDER | M4.0*9 T15
200C 165 180 65 122 75 5 3-M10 BAP400R-80-27-6T 80 27 50 12.4 7 14 APMT1604PDER | M4.0*9 T15
200A 165 180 65 122 75 5 3-M10 BAP400R-100-32-6T 100 32 50 14.4 8 14 APMT1604PDER | M4.0*9 T15
240 105 s 20 120 %0 s Sy BAP400R-100-31.75-6T 100 3175 50 13 8 14 APMT1604PDER | M4.0*9 T15
BAP400R-125-40-6T 125 40 63 16.4 9 14 APMT1604PDER | M4.0*9 T15
206 22 80 120 80 5 3-M12
&0 o BAP400R-125-38.1-7T 125 381 63 16.4 10 14 APMT1604PDER | M4.0*9 T15
- 250C il = an 120 = 8 e BAP400R-160-40-8T 160 40 63 16.4 9 14 APMT1604PDER | M4.0%9 15
8 H 250A 206 226 30 136 80 5 3-M12 BAP400R-200-60-10T 200 60 63 25.7 14 14 APMT1604PDER | M4.0*9 T15
=0
E.\i’i 325(325C) 272 206 100 153.5(154.5) 9% 12 3-M16 BAP400R-250-60-12T 250 60 63 25.7 14 14 APMT1604PDER M4.0*9 T15
E :‘g EPLYAN 272 296 100 169.5 96 12 3-M16
380(380C) 325 350 135 155.5 (156.5) 98 6 3-M16
380A 325 350 135 171.5 98 6 3-M16
500A 440 465 210 202 115 6 6-M16

i

>
(@)
()
=
(%)
V)
o
)
=
wn

H




® ®0® Eﬁgiﬂ I I':E:I o0 ® ®
175\ ZE%, Scanthecodetowﬁf\i{;g [=]=: = mm /176

B ZY-60015 FFEEJIE  SHELL MILLING CUTTER

N

ROUND NOSE SHELL-SHAPED MILLING CUTTER DISC

| =

’ ::

S31¥3S ISIA NOISIDFdd
143 B O & %% 8%

{ D
D1
ol
S ox e R (size) T 1247 RF .

3 #M#& Model 1 ¢ > = RF (size) halsy E#R 12457 e
E H A D (mm) Dl (om) dirn) Hlom) AL L) st SR ey A Model D(mm) d(mm) H(mm) W(mm) T(mm) a(mm) (Insert) (Clamp) (Screw) (Wrench)
3\ KM12-50-22-4T 50 64 22 50 10.4 6.3 TR R = e > o : -

m /| A
=M KM12-50-22-4TR & 50 64 22 50 104 6.3 EMR-5R-40-22-4T 40 22 a2 104 | 63 5
i KM12-50-25.4-4T 50 64 25.4 50 10 6 Bl EE 5q = 0 e S 5
) WP R 63 b7 22 > 104 63 EMR-5R-53-22-4T 63 22 50 104 | 63 P
LARPR R e T i 2! 23 ad 1 i EMR-5R-63-22-5T 63 22 50 104 | 63 g
AN ! &b i = &f 124 d EMR-5R-63-25.4-4T 63 | 254 | 50 10 6 5
KM12-80-27-5TR & al it £ a 1= 7 EMR-5R-80-27-5T 80 27 50 12.4 7 5 BATIH
A35100F T15F
S0 < 160 J14 32 o0 144 8 EMR-5R-80-27-6T 80 27 50 | 124 7 5 | ReMrOO3MO | AR | o S
5 >|:+ KM12-100-31.75-5T 100 14 3175 50 13 8 A . . fEeEE— P oa p 7 - - o
m M KM12-126-40-6T 125 139 40 63 16.4 9 EMR-5R-100-32-6T 100 32 50 124 5 s
53 KM12-125-38.1-6T 125 139 381 63 16.2 10 e aG | 100 | ss | 6 - S ?
NS KM12-160-40-7T 160 174 40 63 16.4 9 S ETHEE e " = s - .
KM12-160-38.1-7T 160 175 381 63 16.2 10 A e s 0 = e : -
KM12-200-60-10T 200 214 60 63 25.7 14 EMR-5R-200-60-10T 500 60 63 357 12 5
KM12-200-38.1-10T 200 214 381 63 16.2 10 ENEEF E R o = - F 7 5
KM12-250-60-12T 250 264 60 63 257 14
KM12-300-60-14T 300 314 60 63 257 14
KM12-315-60-14T 315 329 60 63 257 14
o S
Z b,
G b7
RS

i

>
@)
()
=
(%)
V)
o
)
=
wn

H




143 By O v % 8%

S31¥3S 3SIA NOISIDIdd

B ME WM

o0 ®
25%3 Scan the code to watch videos

177\ @D

B ZY-60017 HSKNEE  Hsk COOLANT PIPE

L1

HIEME W

Scan the code to watch videos

o0 ®

A

ZEGYO

E&D /178

B ZY-60019 BN JIHHME

ACCESSORY OF COMBI SHELL END MILL ARBORS

k3K (Drive Ring) #RFE (Wrench) (Ap;’%c?b{gﬁg%dia)
RING-13 WRENCH-13 13mm
RING-16 WRENCH-16 16mm
RING-22 WRENCH-22 22mm
RING-1" (inch) WRENCH-1" (inch) 1" (inch)
RING-27 WRENCH-27 27mm
RING-32 WRENCH-32 32mm
RING-40 WRENCH-40 40mm
RING-50 WRENCH-50 50mm

SBERARFE T A& FY24£T (Screw for COMBI SHELL END MILL ARBORS)
#M#E Model T (Thread)

“
= 5
B
o Ht ¥ P
= AL e ERIMER
Lé !Fn 26 555 6 M10*1.0P A& Model RGN (Thread MOde{) (Applicable arbor's dia)
%fm 29.5 7.5 8 M12*1.0P SD-M6 M6 13mm
i 33 9.5 10 M16*1.0P SD-M8 M8 16mm
" 36.5 11.5 12 M18*1.0P SD-M10 M10 22mm
44 15.5 16 M24*1.5P SD-M12 M12 27mm
SD-M16 M16 32mm
SD-M20 M20 40mm
SD-M24 M24 50mm
~ SD-M30 M30 60mm
o
¥ BEBARGETITE AR R
[GIY A izA=) I E (Driven Key for COMBI Shell Mill Holders for Assembling Disk Cutters)
2N B ZY-60018 HSKAIQIRF  Hsk COOLANT PIPE WRENCH
b
M
- e e e | |
o S
5 5 #4& Model L(mm) B(mm) H(mm)
o
! N 16 20 4 4
AN L 22 25 6 6
| S
27 25 7 7
32 28 8 7
40 32 10 8
50 36 12 8
%I—l 1:51 M d l 5&%?@3)\3%%’57]**5@9]@“%%7] ﬁ%ﬁﬁ ﬁi}&(Stub spacer rings in accordance with DIN 2084-B standard)
> M= Ats Mode
acu
m
LQ /( ~ #4&(Model)D1(mm)xD2(mm)xL(mm)
e
o 22x34x2 32x47x1 40x55x10
K100-C 150 22 22x34x5 32x47x2 40x55x20
- N K < st 22x34x6 32x47x4 40x55x30
22x34x20 32x47x5 50x69x1
27x41x2 32x47x20 50x69x3
27x41x4 32x47x30 50X69x5
27x41x6 40X55x2 50x69%20
= 27x41x8 40X55x4 50x69x30
27x41x10 40X55%5
27x41x20 40X55%6




	catalog-center_1-01
	catalog-center_1-02
	catalog-center_1-03
	catalog-accessories_1-01
	catalog-accessories_1-02
	catalog-accessories_1-03
	catalog-accessories_1-04
	catalog-accessories_1-05
	catalog-accessories_1-06

